._.___..u
RO

A

.

=

K!

ul

0

..._“_..u
RO




3 1
@—4>—21 ®—Z g
@—6>—§ ®)+5> -5

®0>3

J882 45> -5 7} &}

—
i

A=




T 87 a, b & AUgo] £l F97F A= el ol 7

T T
A7H 18 A W, % 4 6, b B Ftolk

(F,a>0)

» G

» =

> HE a=9F= 19
> H g b=-9

B

2~

T

Adigto] 21 57t A2 ]l = YH o2 RE | A7t
2o F 49 27t 18 o|B 2 Uy o2 HE ] ATt 9 o[t
oltf, a > 0 0|ER g = AAS om 9EROZ g Ut
olFet +9 0l p = FHSZ V|E LR A& o= 9 WhF o] F3t
-9 oJt}.

w2tA g =9, b= -9 7} Ht}

94



14 2
— =4-9o|B=x
3 3 ] 2

2
-5.1 9—]’4§ /K]—o]oﬂ 9}\% ;S]Z,‘—%
-5, =4, =3, =2, -1, 0, 1, 2, 3, 4 °|B.2 Fugto] 71 &

4= -5 ol




+3

-5 -4 -3 -2 -1

L

® (+3) - (-5)

@ (+3)-(-2)

@ (-2) +(+3)

‘ ® (+3) + (-5)




52 a b 7h O S WA W, a+ b © G2 Totelet,

a(-2) =54 914

a=>54+ (—%)
=54+ (-7.5)
=-21

b+ (-16.2) = -8 °l|A]
b= (-8)—(-16.2) = (-8) + (+16.2) = 8.2
La+b=(-21)+82=6.1




O A Al el 571 v 4=9] go] BF

= 19
Fex e o, @ €92 &7

10 @6 ® -2

@
@ -6 ® -10

B

T
B
o2

Al #9919 o2
(=3)+ 0+ (-4) + 5= -2 °|t}.
© & 7™
547+(-4)+©=-2
8+O=-2°B2 ©=-10
Q@ & ot

(-3) + Q@+ 5+ (-10) = -2
(SEESE= S0

L @=6




8.

a o] AUigt2 4ol p o EUHG2 8L W, a-b 7t E 5 3
< 7P 2 ke Teteiet

> E:

> ®eh: 123 412

rr

ac4EE-4,bESEE -8

a-b7t 7V 2 gol 2 g =4,b=-8Ld Ha-b=12




9. lal=25 pl=5%F AT a bolHistdatb o HAG= A, axb
o] 2|42 B 2F kAL oldl, A + B O] #2?

O 20 @ -20 (@)25 @ -25 ® 30

B

25| = | - 25| = 25 O] 22
a=25Ex=q=-250]1
5| =|-5/=5°|2=&
b=5%Eb=-5°lt}

42N Tt (a0 b)) 9
(25,5), (25,-5), (-25,5), (-25,-5) ]t}
24 AL a+b & a+bE ST o] 7 5 Aot

(i) (a, b) = (25, 5) & ],
a+b=25+5=30,a+b=25+5=>5 0|t

(i) (a, b) = (25, —5) &
a+b=25+(-5)=20, a+b=25+(-5)= -5 o=

(iii) (a, b) = (=25, 5) & o,
a+b=(-25)+5=-20, a+bh=(-25)+5=-5 ot}

(iv) (a, b) = (=25, —5) & o,
a+b=(-25)+ (-5) = -30, a + b= (-25) + (-5) = 5 °|t}.
wakA, a+b O] HAG A & asb 2] L BEA =30, B=-5
oJtt.
s A+B=30+(-5)=25

H e

o)




® -15406-07=-16

-25+09=14

2 1 59
10+ 2= =_=
0+3 2+8 6

D-15+46-21=1

2 1 11
“10+=-Z-48=-—
@ +3 2+ 5




